Multiplication de Trois Trinomes (C)

Simplifiez chaque expression.

1 (52° — 227 — T2)(72° + 62% — 32)(—92" — 72° — 27)

0 (=Tt — 17 4 81)(3t% — 4t + 1)(8t° + 8t* 4 2t7)

5oyt — 4y + 5y7) (=3y° + 2yt + 60°) (= Tyt — Ty — 6y7)

L (=82° + 427 — 52) (=2 + 32 4+ 4)(—22% — 42 + 3)

- (8a® — 4a® — 4a)(—6a° + 3a* — 6a”)(—4a® + 9a® + 4a)

Ot

6. (95 +9s% — 85%)(—35® 4 5 4 55)(7s* + 35 + 4)

7 (=7 — 4t — 6t3) (=58> — ot + %) (3t — 33 — 3¢7)

8. (=n* —4n® — 3n?)(Tn* — n® — 4n?)(8n° + 6n* — 8n?)

~

0. (2¢* — 6¢° — 64°)(5¢° — 6¢° + 8¢)(—3¢* — 3¢° — q)

10 (=y* + 797 + y) (=9 + 5y° — 8y*) (- + 24" — 5y°)
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Multiplication de Trois Trinomes (C) Réponses

Simplifiez chaque expression.

C(52% =222 = T2) (72 +62° — 32) (=92 — 728 — 2P
= —315210 — 3892Y 4 5372% + 84027 + 1392% — 1112° — 212*

—_

(=Tt — 7 4 8)(3t% — 4t + 1)(81” + 8t* + 2t7)
— —168t10 + 32tY + 326t — 46t" — 15815 — 245 + 16¢*

O

4yt — 4y 4+ 59°)(=3y° + 29" + 6y°) (= Ty* — Ty’ — 6y°)
= 84y" — 56y1? — 75yt — 29910 — 118y” — 126y° — 180y"

w

1 (—82° + 427 — 52)(—2* 4+ 32+ 4)(—22% — 42 + 3)
= —162" +242% + 1662° — 262* — 923 + 8322 — 60z

t

- (8a® — 4a® — 4a)(—6a° + 3a* — 6a®)(—4a® + 9a® + 4a)
— 1924 — 624a" + 384a° — 180a® — 132a" + 264a° + 96a°

(95" + 95° — 85%) (=35 + 5% + 55)(7s* + 35 + 4) ‘
= —189s” — 207s% + 3845s” + 42155 + 143s° + 28s* — 160s>

[@))

(=17 — 4t — 61%) (=5t° — 9t* 4+ Tt%) (3t* — 37 — 3t?)
= 15tM + 72t1 + 75¢1% — 1861 — 381410 + 4817 + 126¢°

~

8. (—n* —4n® — 3n?)(Tn* — n® — 4n?)(8n” + 6n* — 8n?)
= —56n" — 258n'% — 2100 + 290n'° + 314n° — 80n® — 9617

0. (24" — 6¢° — 6¢°)(5¢° — 6¢” + 89)(—3¢° — 3¢” — q)
= —30¢" + 96¢° + 50¢° + 12¢" + 158¢° + 156¢° + 48¢*

10 (= + 79 + ) (=9 + 5y° — 8y (= + 20" — 5y%)
= —9y'? 4 86y — 215¢'° + 459" — 2641° + 239y + 40y°
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